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COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

B1
     60A   1       5     6     208    1248
     50A   2     6.3    12     125    1500
     50A   3     6.3    20     147    2940

B2
     60A   1       5     6     208    1248
     50A   2     6.3    12     125    1500
     50A   3     6.3    20     147    2940

B3
     60A   1       5     6     208    1248
     50A   2       8     8     133    1064
     50A   3     6.3    20     147    2940

B4
     60A   1       5     6     208    1248
     50A   2       8    12     133    1596
     50A   3     6.3    20     147    2940

B5
     60A   1       5     6     208    1248
     50A   2     6.3    12     125    1500
     50A   3     6.3    20     147    2940

B6
     60A   1       5     6     208    1248
     50A   2     6.3    12     125    1500
     50A   3     6.3    20     147    2940

B7
     60A   1       5     6     208    1248
     50A   2     6.3    12     125    1500
     50A   3     6.3    20     147    2940

B8
     60A   1       5     6     208    1248
     50A   2       8    12     133    1596
     50A   3     6.3    20     147    2940

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
    100       15      5     60A
    310       76    6.3     50A
     43       17      8     50A

Peso Total        60A =       15 kgf
Peso Total        50A =       93 kgfD
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